VCE & PDF https://www.passapply.com/1z0-434.html
2024 Latest passapply 120-434 PDF and VCE dumps Download

PassApply.com

170-4340%A3

Oracle SOA Suite 12c Essentials

Pass Oracle 1Z20-434 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-434.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-434 Dumps | 120-434 PDF Dumps | 120-434 Braindumps 1/3


https://www.passapply.com/1z0-434.html
https://www.passapply.com/1z0-434.html
https://www.passapply.com/1z0-434.html

VCE & PDF https://www.passapply.com/1z0-434.html
2024 Latest passapply 120-434 PDF and VCE dumps Download

QUESTION 1
Which two statements are correct about the Oracle Enterprise Scheduler Service (ESS) facility?

A. Itis a Java EE application that is deployed to WebLogic Server to provide distributed job request processing across a
single WebLogic Server or a collection of WebLogic Servers.

B. It is shipped as a separate product and you can install it after you have completed the SOA Suite installation.
C. It is used extensively by Fusion Applications so it is well-tested.
D. It is administered via the WebLogic Server Administration Console.

Correct Answer: AD

QUESTION 2

A user has configured Mediator M1 to receive and route product information from System X into its internal applications
in chronological order. For each product, M1 receives one "create" event followed by any number of "update " events
from an AQ Queue via a JMS adapter. M1 can receive updates to the product at any time of day.

The user claims that incoming messages for each product are received and processed in the correct chronological order
95 % of the time. However, the messages are being processed out of order 5 % of the time. This results in critical errors
in the target systems. The user expects all messages pertaining to a product to be unconditionally processed in the
order of arrival at M1.

What causes this discrepancy?

A. The user is running on a four-node SOA cluster and has not configured the inbound JMC adapter to be a singleton.

B. The user is running on a single-node SOA environment but has configured the number of inbound adapter threads to
be a value greater than 1.

C. The given Mediator configuration does not address this sequencing requirement.
D. The user has configured resequencer worker threads to a value greater than 1 for the Mediator service engine.

Correct Answer: C

QUESTION 3

Which two statements are true about the role of a Continuous Query Language (CQL) processor in a Oracle Event
Processing application?

A. It primarily executes SQL statements against the database.

B. It can be used to filter, aggregate, and correlate events in memory and can integrate with Coherence, NoSQL, and
HDFS.

C. It invokes human workflows to deal with exception handing.
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D. It can perform spatial queries as well as complex

Correct Answer: AC

QUESTION 4

As an Oracle SOA Suite composite moves through the software development life cycle, certain environment-specific
changes must be made to the composite configuration from deployment to deployment.

Which feature can help you capture and effect these changes?
A. Configuration Plans

B. Deployment Plans

C. Domain Value Maps

D. Property Files

Correct Answer: A

QUESTION 5

Which statement is correct about how if-then rules are processed during an inferencing session?
A. Rules are evaluated in the order in which they were added to the ruleset.

B. A particular rule can be fired only once in an inferencing session.

C. The effective date set for a rule can take it out of consideration for evaluation.

D. A priority setting of 1 will cause the rule to fire during each inferencing session.

E. Rules with multiple IF conditions receive higher priority during evaluation.

Correct Answer: A
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